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Pop Quiz

1. What is the solution for the following formula:
xs+ys+z3=k, with k being all the numbers from 1 to 100?

2. Which is the correct straight-line amortization for a finance lease under ASC
8427
a) The opening value of the right of use asset divided by the number of days
of the useful life.
b) The closing value of the right of use asset multiplied by the number of days
of the useful life.
c) The number of days of the useful life added to the opening value of the
right of asset use.
d) The number of days of the useful life subtracted from the opening value of
the right of asset use.

3. True or False:
The olfactory tract projects to a number of other targets in the forebrain,
including the hypothalamus and amygdala.

4. What is the definition of the word ‘anachronistic?’
a) Misplaced chronologically
b) Utterly defiant
c) Sloppily regarded
d) Misinterpreted

5. How is goodwill arising on the acquisition of an associate dealt with in the
financial statements?

a) Itis amortized.

b) Itis impairment-tested individually.

c) Itis written off against profit or loss.

d) Goodwill is not recognized separately within the carrying amount of the

investment.
GOOD LUCK!





